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Geometry

b Ed
In the given figure Kﬁ“‘ﬁg, KE“ ﬁﬁ, and BELDE. Find m¥ A.

a. 55°
b, 100° A &
c. 115° c
d. 1350 3P

D E
e. 1259

The sum of the measures of the interior angles of a regular polygon
is 2520°, How many sides has the polygon?

a. 7
b, 12
c. 14
d. 16
e. 9

In right triangle XYZ, 7W is perpendicular to hypotenuse XY, X7 = 4,
and ZY = 6, Find WY.

18
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Geometry

In a rhombus, one angle is 120°, and the shorter diagonal is 12 inches.
Find the area of the rhombus,

a. 14443 in?

b. 3643 in?

c. 144 in?

d. 72'\[_3_ in?

e. 48143 in?

A right circular cylinder has altitude 8 inches and radius 4 inches.
Find the total surface area.
a. 80T in?

b. 1607 in®

¢. 967 in?®

d. 489 in?
e. (32 + 327) in?
A, B, C, and D are distinct coplanar points, no three of which are

collinear. TIf E is a point not in the plane of A, B, C, and D, how
many distinct planes are determined by the five points?

a. 4
b. 5
c. 0
d 7
e. 8
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Geometry

Given <Qﬁ perggﬂgicular to plane T, what is the locus of points
3 inches from QR and 3 inches from T7

a. two planes
b. two lines

c. two circles

four points

[

e. two cylinders

Jim left home on his bike and rode 5 miles north, then 4 miles east,
and then 3 miles north. How far from home was he at the end of this

trip?

a. 5 %41 miles

b. 445 miles

c. %66 miles

d. V&2 miles

e. 12 miles

A large storage tank has the shape of a right circular cylinder

surmounted by a dome in the shape of a hemisphere. If the cylinder
has height 60 feet and radius 15 feet, find the volume of the

tank.

a. 18,0007 f¢* B
b. 15,7507 ft? — =
c. 14,6257 ft3

d. 40507 ft3

e. 81007 ft3
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Geometry

Identify the results for the final column of the given truth table.

p q P—>q

T T

T F

F T

F Fo ]

a. T b. T c. T d. T e. T

F T F F T
F F T F T
T T T F F

In a trapezoid the bases are 5 inches and 8 inches, and the legs are
4 inches and 6 inches. If the legs are extended to meet in a point,
how much must the shorter leg be extended?

a. 10 inches
inches

inches

POl = o)

d. 4 inches

e. 6 %vinches

The area of a regular polygon is 36 in®. Another regular polygon with
the same number of sides has half the perimeter of the first polygon.
Find the area of the second polygon.

a. 4 in?

b, 9 in®
c. 12 in®
d. 18 in?®

e. 20 in®
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Geometry

Quadrilateral EFGH is inscribed in a circle. If m¥E = 4x + 40,
m4{G = 5x + 5, and m&H = 3x + 10, then m4F =

a. 90° ¢

b, 115°

c. 75° F‘
d. 135° H

e. 125¢° =

Find the ratio of the area of a 45°-45°-90° triangle inscribed in
a4 circle to the area of the part of the circle remaining when the
triangle is removed?

a. 1 : V?f
b, 1 :42 7
c. T (2T - 1)

d. 1: (m-1)
e. 1: (7 ~12)

In right triangle ABC, CM is the median to hypotenuse AB, and
CD is the altitude to hypotenuse AB. If m# MCD = % mZ A and
m¥A>m3 B, then m¥ MCD =

a. 30°
b. 45° A
D
c. 18°
m
d. 15° \“\
e, 10° ¢ 8
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Geometry

The medians of a triangle have lengths 15 cm, 15 cm, and 18 cm.
Find the area of the triangle.

a, 72 cm?

b. 288 cm?
c. 135 cm?
d. 144 cm?
e. 225 cm?

In the given figure R bisects 5.YXS, TR bisects ¥XYS, and
me-S = a. Express the measure of & R in terms of a.

a. 90 + % 7
X
b. 1803~ a R
.. 2259 3
d. 180 +5‘21
a - 90
3

One of two pieces of wire having equal lengths is bent to form a
square, and the other is bent to form an equilateral triangle.

If A is the area of the triangle and B is the area of the square,
how are A and B related?

a A:_qj._:i_B
9
SR LR
A
d. A=—2 3
L3
. A=3g?B
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Geometry

Two parallel chords on the same side of the center of a circle
are 12 inches and 20 inches long and 2 inches apart. Find the
radius of the circle.

a. 8 in.
b, 1% in.
c. 2VN3 in.
d. SY13 in.
e. 1642 in.

In the given figure TA and TE are tangent to the circle at B and C
respectively, with m $ABF = 30°, m4&T = 70°, and m% FCD = 20°.

- , 7o 7 S A
Find the measure of minor arc "BC.

a. 140°
b. 100°
c. 80°

d 120°
e 10

pum—

In #ABC, AC » AB. Point D is chosen on AC making AD = AB, If
m¥% ABC is 20° more than m#C, find m4 CBD.

a. 30°
b. 20°
c. o 15°
d. 10°
e, 5°
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Geometry

In the given figure the sum of the marked angles is

a. 180°
b. 360°
c. 540°
d. 270°

e. cannot be determined without more informatiocon

If we assume the truth of the statement, "No gog is a jeb,” which of
the following is true?

a. Sahop must be a jeb since he is not a gog.

b. If Sahop is not a gog, then he is a jeb.

c. If Sahop is a jeb, then he is not a gog.

d. If Sahop is not a jeb, then he is a gog.

e. Sahop is a jeb if and only if he is a gog.

In a right circular cone the radius is halved and the height is

doubled. The ratio of the volume of the original cone to that of
the new cone is

a. 4 11
b. 1:1
c. 2 :1
d. 1: 2
e. 1 : 4
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In the given figure, PE = 9, DE = 3, DC = 6, and PH = 8. Find ¥G.

. 16
' 3
5
b. 5
. 1
: 2
8
d 5
e 5

Find the area of a semicircular region which requires 40 rods of
fence to enclose it.

a. §%9 rd?
b, 0 4
d. T’% rd?

. 1600 o
© (v 2)°

Which of the following is not a method for proving triangles congruent?

a. side, side, side

b. side, angle, side
¢. angle, angle, side
d. side, side, angle

e. angle, side, angle
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In the given figure, trapezoid ABCD has perimeter 40. Find the
length of an altitude of the trapezoid.

a. 8Y¥3 -4 p g A

b. 18 - 6 Y3

c, 4 +Vﬁ; oo o
d. 643 ~ 6

e. 4 —wﬁ?

It can be proven that there are only five types of regular polyhedrons:
tetrahedron, cube, octahedron, dodecahedron, and icosahedron. Identify
the three of these that have faces with the same number of edges.

a. cube, octahedron, and icosahedron

b. octahedron, dodecahedron, and icosahedron
c. tetrahedron, cube, and octahedron

d. cube, dodecahedron, and icosahedron

e. tetrahedron, octahedron, and icosahedron

The diagonals of a parallelogram are 16 cm and 20 cm, and one side
is 12 cm. The area of the parallelogram is

a. 1843 cm?
b, 1243 cm?
c. 3646 cm?
d. 4482 cm?
e. 6047 cm?

10
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Geometry

Identify all of the following statements which are true:

(I) Any three distinct noncollinear points lie in exactly ane circle.
(I1) A circle may be inscribed in any triangle.
(ITI) The center for the circumscribed circle of any triangle is the
point where the angle bisectors meet.
(IV) The center for the circumscribed circle of a scalene triangle
is located outside the triangle.
(V) In a right triangle the orthocenter is at the vertex of the

right angle.
a. I, IL, IV, V
b, I, II, III
c. I, Iv, V
d. I, III, IV
e. II, IV, V

A circle is inscribed in a right triangle with hypotenuse 10 and one
leg 8. The area of the triangle exceeds the area of the circle by

a. 24 - 4w
b. 24 - 37
c. 24 -6T
d. 48 -4
e. 48 -9T

Find the area of the triangle with vertices (-2, 1}, (2, 4y, and (3, 1).

a 7.5

b 10 + A/ 10
’ 2

c. 6.4

d. 10+ Y10

e, 12.5

11
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In AABC with side lengths 6, 7, and 8, the angle bisector of the
largest angle divides the opposite side into two segments. Find
the length of the shorter segment.

48
4 13
/
A ki
o 16
) 5
¢
6 g
4. 2L
75
42
e, 13

A rectangular tank with base dimensions of 120 cm and 80 om contains
water to a depth of 50 cm, ~The water rises 6 % cm when a solid
metal cube is submerged in the tank. The length of an edge of the

cube is

a. 16 cm
b, 32 cm
c. 64 cm
d. 48 cm
e. 40 cm

Points P and Q are the midpoints of diagonals AC and BD, respectively,
of trapezoid ABCD. If PQ = 30 and the longer base AB = 100, then

DC =

a. 30
b. 35
c. 40
d. 45
e, 50

12



Geometry

37. A right prism with regular hexagons as bases has volume 964 3 cm?.
If all eighteen edges are congruent, then the length of an edge is

a. 6 cm
b Z cm
c. 95 cm
d. 4 cm
¢ 3 cm

38. Right triangles ABC and ADC are each infcrlped wlthin.theﬁgircle,
as shown. m<& CAD = 45°, m & BAC = 30°, AB = 10. Find DC.

a. 20J6

39. A point of light is 12 feet from a wall. How far from the wall, and
parallel to it, should a rectangular piece of cardboard be held such
that the shadow on the wall is nine times as great as the area of the

cardhoard?
a 8 fr
b 4 fr
c 6 ft
d 9 ft
@ 10.%
3 ft

13
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Geometry

In AABC, CA = 10 and CB = 15. Point D is taken on side CA such
that CD = 6. When side CB is extended to point P, then the area
of ACDP is 2 the area of AABC. Find CP.

4
a., 25 g
b, 22.25 D
c. 18.75
d. 16 £ 8 “
e. 26.25

14



